| Foundations of Algebra
Day 2 - Creating Function Rules

UnitS: Linear Functions
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1. Complete the input-output table. Then write the function rule.
In 3 4 5 7 10 In 5 6 8 10 15
Out| 7 3 9 |}l [ Out| 14 | 15 | 17 | (9 [gy
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2. Create a function rule to describe the table below. -
x (in) 9 14 17
¥ (out) 0 i 12 15
320

aa-a |FK]=Xx-%

3. Elaine is in the business of repairing home computers. She charges a base fee of $45 for each visit and $25
per hour for her labor.

a. What are the mdependent on? dependent quantities and variables?

[
mfaJI Coot

b. Write a function rule that represents the total cost c(x) for one home visit and x hours of labor.

c(X): 456+ 4bx

4, A mail order company charges $5 to place an order and then $2 per item in the order, up to a maximum of
4 items. «

a. Write a function rule relating the total cost and number of items ordered.

f0)= a8+ 5

b. What is a reasonable domain for this situation? (’nqa;( ob 4y v&mo)

men £0,1,2,3,43 i
T T subsh hue the valuso In olemadn,
5. Arenfclccranﬂt i5 OI$2§” '5; \)

r chorges fee to fent a car and $0.20 per mile driven. The V ﬁlr WW
a. Write a function rule relating the total cost and the number of miles driven.
f(X) =45+ .30¢
b. Find the value of F{121). Explain what it means in terms of the problem scencno _ l 2'
Fli11)) = numlr of milg drviven IF the dlrives )
F(121)=a6+.20 (12)) m\eo, w\l Jpenal $49.20 .
=349.20

c. How many miles did a customer drive if his total bill was $215.002
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6. Fiona has along distance cell phone plan with AT&T. The cost of a long-distance cell phone call is $0.50 to
make a phone call cr)d $0.10 for each minute that Fiona talks. If x is the number of minutes that Fiona talks on
her cell phone and y is the total dollar cost of the phone call, then y is a function of x. Let's name this function
C. for cost function.

a. What are the independent and dependent varigbles in this scenario?

v ik

b. Make a table of values to record the costs of a call that lasts 1, 2, 3, 4, 5, and é minutes
- 1 2 3 4 5 6
(minutes)
C{x) ) § J
o %60 570 | T80 | %90 | %100 |10
c. Write a formula showing how the cost of a long distance call depends on the number of minutes that
Fiona talks on her cell phone. (Assume that the company does NOT round up to the nearest minute).
Clx)= .50 +.10x
d. Whatis C(2)2 What does it mean? Explain how you can use the table and the formula to compute
C(2). Table — look 4o St¢ whod he oudpud
C(2)=.50+.0(2) w Whan X=2,
-%.70 Fornuda - Subdhtukr A o
Ie If{lﬁk for 2 minuwko, e X v hru f‘umwf—‘l
my o v 870 .
e. Whatis C{x) =

$1.002 Explain how you can use the tcblelonc;gogzzlo to compute C(x) = $1.00.
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7. The Martin family is comparing the costs of two different cable companies. Direct TV charges a $100 setup
fee and $50 per month. Comcast charges a $45 setup fee and $60 per month. fh: #of movdtho

a. Wirite the function rule for DirectTV.

Dim) =100+ H0m

b. Wiite the function rule for Comcast.

¢(mY=H51+U0m
c. Decide which company is cheaper after 12 months
0(10)- 100 +50(12) Clr)= 45+ Lolia)

D(12) - 700 ) = 165 |
Afkr 12 mothd with DJM:*TV wwl hawemio ¥700. Aler 12
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